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It has to be proved that the sequence: aA, arAR, arARZ , _ar"™'AR™! forms a

Second term _ arAR
First term aA
Thirdterm _ ar"AR°

Secondterm  arAR

=rR

=rR

Thus, the above sequence forms a G.P. and the common ratio is rR.
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The coeff. Of the first threeterms of - . are ° 1 and
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Therefore, by the given condition
"C-37C+97 C =559

1-3m+

On solving we get 7 =12
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12-37 =3 = r =3 reg. term is -3940 x°

a=3,b=2,n=3
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(M (HUS)=n(H)+n(S)-n(HNS)
=30+25-16

=39

(i (Z'NS')y=nHUS)
=n(U)-n(HUS)

=50 - 39=11
{iHnNn(HUS)=n(H)+n(S)-2n(HN'S)
=30+ 25 - 2x16

=23

-—

n(M=a—b+d-e=15
M_ P

a | I

HPl=b+c+te+f=12
n(Cl=d+etf+g=11
n(MnP)=b+e=9
n(MnC)=d+e=35
n(PmnC=et+f=4
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e=3

sob=6d=21f=1

a=4 g=5¢c=12

g=5.

(ii) a=4,

(iii)c=2

(iv)f=1,

(v)b=6,

(vijg+a+c=11
(vilJatb+c+td+e+f+g+=23
(viii) 25 -(a+b+c+d+e+f+g)=25-23=2
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